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Figure S8. The threshold number of cells required to first detect microcolonies is inversely proportional to the
intrinsic cellular fluorescence. The data plots the number of cells required to first detect autofluorescent
microcolonies (Niresn) VS the intrinsic cellular fluorescence (F.¢) for E. coli, B. diminuta, and C. albicans. The slope of
the best-fit line estimates Fyhresn, the threshold level of fluorescence required to detect microcolonies using the Growth
Direct System (Equation 1 in text) is inversely proportional to their intrinsic cellular fluorescence.



